ITEAROICROTEBEE (HAFTEE & DKPI)
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3 Es e al e s e = e FRERIOE it

H27 HE 7 A 75% | 1 HE 1 A 13%| 0 HHE O A 0% 1 HE A 13%| 8 tE 9 A 8 &% 9 A
H28 s 12 A 90% | 1 tHFE 1 A 10%| 0 HE O A 0% 0 tHw& A 0% || 10 &= 13 A || 18 H#F 22 A
H29 | 21 &% 24 A 58%| 7 % 10 A 19%| 5 &% 5 A 14% | 3 HE A 8% | 36 HHFE 43 AN | 54 tHEF 65 A
H30 15 &% 20 A 54% 3 & 3 A 11%| 4 HHFE 7 A 14% | 6 tHE 11 A 21%| 28 & 41 A || 82 & 106 A
R1 25 &% 37 A 54% | 8 tHF 13 A 17%| 7 % 8 A 15% | 6 {HEHE A 13% | 46 tHE 64 A ||128 tHFE 170 A
R2 27 &% 39 A 66%| 4 HFE A | 10% 7 HE 11 A | 17% 3 fHF A 7% || 41 &% 61 A [|169 f#F 231 A
R3 30 ttE 47 A 70% | 3 tHFE A 7% 3 tHF A 7% 7 tFE A 1 16%| 43 #HEF 65 A [|212 tHE 296 A
R4 33 tt& 45 A 67% | 7 HHE 14 A 14% | 5 HHFE A 1 10%| 4 tHE 4 A 8% || 49 HHEF 69 A [|261 tHE 365 A
5t [ 166 & 231 A 64%] 34 1@ 53 A  13%] 31 (@ 41 A  12%] 30 f#& 40 A 11%|261 & 365 A

BIEEMEXBIAR (H27~R4)
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